Ratio

%2108 =6 4 2 0 2 4 6 8 10

[ pull of goverp parameter |
107"

1074

1.z

Ratio

1.1

1 3
-10-8 6 -4 -2 0 2 4 6 8 10

,_D'QWI_CK'I—_QCD'H' ghPT base
== DOM_CKF_QCDHighPt_retrain

[ pull of @parameter |
-1 rnes
107 & Bev

.................

1072

1073

Ratio

P08 6 4 2 0 2 4 6 8 10

[ pull of dxy parameter |

I'IES

Doy o
tant X
onstan O.%

H

107}

1072

0 [4H

1.2

Ratio

1.1

iy

CARERRERREE]

o
©

R R B T

-
o
D
SN

[ pull of 6 parameter |

fleS

0.086!
10_1:_ onstam 0O
E TIES
: onslam 8 ggg
K N S I [HE AR
107°E
107*E
o i
T E
¥ 1.05F
IRk SETE SRR IR SO SN S
0.95: P el micssios oo wmel meies : Poe d
—.L086420246810

[ pull of dz parameter

107}

1072

Jany
S
I

086 4-20 2 4 6 810

|
=



	Contents
	Page 1


